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YRR AR 23,709,400 21,554,000 (A) 2,155,400
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2 % REPEREERERLHKSEMIE No. 1
RETEHAI RETEERE e
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# H BOF | ye mm mm s I T o | EOEEE WE
[ERZAR %
I| BETH = 15,175,405 1 K 15,760,700 585,295 HEEH
RN % 15,175,405 15,760,700 585,295 HE%HE
Him g
[| sk = 1,146,184 1 K 1,167,374 21,190 HE%H
0| B5E e =X 2,344,893 1K 2,411,149 66,256 HE%E
S E X 2,887,704 1 KL 2,981,838 94,134 HE%H
Fam 6,378,781 6,560,361 181,580 HE%H
21,554,186 22,321,061 766,875 Hi%E
XA RE (L Hm k) T AT 21,554,000 22,321,000 767,000 HE%E
TH B Bl S AH 24 %R 2,155,400 2,232,100 76,700 H9%E
wAE (rER) 23,709,400 24,553,100 843,700 HE%H




2 % REPEREERERLHKSEMIE No. 2
RETEEAT RETEFR a3
® H L Y AT Yy g BE BE o | EUEEE WE
I |BETSE
Al (=R FKGEm T3 2V 9,883,285 oy 9,957,661 74,376 |HE%H
A2 [JEVER FIRAME S fiEfth T3 = 5,292,120 = 5,803,039 510,919 |H&%H
&t 15,175,405 15,760,700 585,295 |HE%H




2 % REPEREERERLHKSEMIE No. 3
RETEEAT RETEERE et
# H W= g B B s g B B e | FUHEEER WE
Al |BEHEEBLEHKSEMISE
1 |EERGETE 1 K 1,037,339 1 =X 1,037,339 0
2 Pk LE 1 K 6,109,926 1 = 6,116,526 6,600 HE%E
3 |EBEE&ETE 1 K 1,343,578 1 =X 1,343,578 0
4 |FMEERIE T E 1 = 22,871 1 = 13,511 -9,360 | J&E
5 |NEKETHE 1 K 343,102 1 =X 343,102 0
6 |BEXETE 1 = 10,515 1 = 10,515 0
7T |FOMTHE 1 K 591,010 1 =X 591,010 0
8 |- asy 1 = 424,944 1 = 502,080 77,136 |H4%H
&t 9,883,285 9,957,661 74,376 |HE%H




2 % REPEREERERLHKSEMIE No. 4
RETEEAT RETERR a3
# H wE g B B s g B B o | EUEEE WE
A2[EYBRTHRNEREMTE
1 |EERGETE 1 K 1,069,600 1 =X 1,069,600 0
2 Pk LE 1 = 1,400,857 1 = 1,400,857 0
3 |BEE&ETE 1 K 116,666 1 =X 150,538 33,872 H4%H
4 |FMEERIE T E 1 = 1,232,345 1 = 1,679,562 447,217 BE%E
5 |BEEKETHE 1 3K 524,174 1 XK 524,174 0
6 |ZFofth T3 1 = 505,480 1 = 505,480 0
7T s 1 K 442,998 1 =X 472,828 29,830 HE%H
Gt 5,292,120 5,803,039 510,919 H4%H




